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PHILOSOPHY

( Honours Core )

Paper : PHI-HC-3016

[ Western Philosophy (Deséartes to Hegel) ]

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions :

1. Answer the following as directed : 1x10=10
wore famms RotrEm Ted o =

(a) ‘Cogito ergo sum’—Name the philosopher
associated with this statement.

‘Cogito ergo sum'—{2 Tfe = @i@@
T I T |

(b) What is empiricism?
Hfoeerm &2
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o" .
(2) SR o (:3)
(c) “What is real is. rational and what is (h) Acc<?rqmg fo Kant, Space and Time are
rational is real.”” Who said this? a priori. Is it true?.
“R 1w i Qe = R QAfts B 3w 1™ FGT WS o1 F I XA Sower | ¥l
PYER I (FRe1 2 R 7

(d) The theory of innate ideas was refuted by , (i) 'Who is the author of Monadology? -
Descartes / Locke / Spinoza. :

Monadology TN A8 (T @2
(Choose the correct answer)

| GRS YRR 9 1 e 2 (ot [/ () “Thought is reality and reality is
aF | e | thought.”” Who said this?
(o= Tah fR Tferean) “fogiy Tal wIF TSR XA Bl 1”7 FAER A
' iRE 2
(e) What is innate ideas? '
R g9 R 2
! .
() Hume is a  rationalist / empiricist 2. Answer the following questions in brief : 2x5=10
philosopher. \ o ePTRE 5 TeT o
(Choose the correct answer)
e o IR | SRR TR | (a) Write the names of two masterworks
( ' o’ ‘ of Hume.
0% TSI Tenear
) R e R 213 W o o
(g) Berkeley’s idealism is objective idealism. )
Is it true? : _ (b) What is God, according to Spinoza?
TR SIRAM 2o 3 SR | 3T ST 2 . PeiTee Tee Sae 2
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(c) .

(4)

Why does . Leibnitz say Monads are
windowless?

(c)

(S)

How - does Locke distingnish between
primary and secondary qualities? Discuss.

A R TIeTRe RrERY I R 2 T QEF T BT AF T QR e
(1% Fiet FRCR 2 9 0 4

(d) State any two arguments of Locke against

innate ideas. (d) What is Monad according to Leibnitz?

IEE© 4RI Reca W ﬁ’w R @ State two characteristics of Monads.

I

751 3 Trmy T ARFER qe TAC A oo [y &Fo vares

(e) What is impression according to Hume? ™ !
: R a _"“‘Ia‘_'ﬁ‘,? (e} What is Hegel’s concept of Master Slave
. | 8

dialectic? Explain.

3. Answer any four of the following questions : 5x4=20
T 2R R e vikbr Tas forey

(a) What is Hegel’s dialectical method? (f) Why is Hume called sceptic philosopher?

R R Aemam wiRe @ =2

(RO Ag-TPR WIS =1&fs 6 2 e 4t |

Discuss the stages of Hegel's dialectical
method.

PR WS S 2 o e mfes

T B SN ¥ | 4. Answer any four of the following questions :

' . 10x4=40
(b) What is categories of understanding

according to Kant? Write a note on
transcendental deduction of categories.

T e AR R B2 @R SR
o e Ry off G forar |

A25/212

oo 2PTRd R e BB e o
(a) Critically discuss Hegel’s idealism.
CZCOT] SIRAMY FNCAGATLEAF AT STNICRIET |
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(b)

(c)

(d)

(e)

(f)

(g)

A25/212

(6);

Explain the statement ‘esse est percipi’.

Sy erors ST’ SRECH! M 341 1

Explain Kant’s concept of Space and
Time.

PG OF F FET YIRETCH! I 41 1

Explain Leibnitz’s  theory -of pre-
established harmony.

Ao SR RIE [ FA |

Is synthetic a priori judgement possible?
Explain.

goppe TRORIIE SRR FSICT? I
1

Write a note on Hume’s ideas.

o IR oiFS o Gt fordt |

Write a note on Spinoza’s theory of
Substance. Why is this theory called
Pantheism?

PrieR wroes @S off B B
PoAIER TATeeS 9 APIRM @R = 2

( Continued )
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(7)

(h) What is interactionism of Descartes?

Explain critically.

oo fr-afSfrrm o5 R 27 TKETAERe
T ST |
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